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kx (a+b)= kxa + kxb
kx(a-b)= kxa - kxb

DB sACwad il Al
A = 2(x + 2) 2Xx +2x2=2x +4
B =2(y -3)=2%xy —2x3 =2y —6

A 5B (ot Janil

B = 5x + 25 =5xx +5%x5=5(x +5)
A =x"-3x =xxx —3xx =x(x —=3)
Zzt,yali

rO8 A Ay pde dNeidyc sbsa
(@a+b)(c+d)=ax(c+d)+bx(c+d)
(a + b)(c + d)=a xc + axd + bxc + bxd

Jhia
A S
A=(a + 5)(3 + a)=ax(3 +a) + 5x(3 + a)
= 3xa + axa + 5x3 +5xa
=3a+a%+15+5a
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: B Jaxdl
B=2y—6+xy -3¢ =2Xy+2(3Hx Xy +x X3
=(2+x)y -3
dalgll cilidaiall- 2
dpald

G Ghs Gl b s a
(a+b)y=a*+2ab +b?
(a—bP=a?—2ab +b?
(a—b)a+b)=a*>-b?

44|

(X +2)2=x242%X2Xxx +2° =x"+4x +4
(y +3)2=y2+2x3xx +3° =y’ +6y +9
(x +2)(x —2)=x2-4
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